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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9 1
2

) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s+ ukS ¼9 1
2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe International Code for Botanical 

Nomenclature (ICBN).  

vURkjkZ”Vªh; okuLifrd ukedj.k i)fr ¼vkbZ- lh- ch- ,u-½ 

dk o.kZu dhft,A  

2. Describe the classification proposed by Bentham and 

Hooker.  

csaFke ,oa gwdj }kjk izfrikfnr oxhZdj.k dk o.kZu dhft,A  

3. What is Pollination ? Describe its various types.  

ijkx.k D;k gS \ blds izdkjksa dk o.kZu dhft,A  

4. Describe the development of male gametophyte.  

uj ;qXedksn~fHkn ds fodkl dk o.kZu dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Describe the family Ranunculaceae.  

jsuudqyslh dqy dk o.kZu dhft,A  



 [ 3 ] BO–09 

B-18 P. T. O. 

2. Describe the family Fabaceae.  

QScslh dqy dk o.kZu dhft,A  

3. Discuss the family Poaceae.  

iks,lh dqy dh O;k[;k dhft,A  

4. Describe the family Asteraceae.  

,LVjslh dqy dk o.kZu dhft,A  

5. Describe the structure of angiospermic ovule.  

vko`rchth chtk.M dh lajpuk dk o.kZu dhft,A  

6. Describe the structure of pollen sac.  

ijkxdks”k dh lajpuk dk o.kZu dhft,A  

7. Discuss the structure and function of tapetum.  

VsihVe dh lajpuk ,oa dk;Z dh O;k[;k dhft,A  

8. Write a short note on pollen wall.  

ijkx fHkfŸk ¼ikWyu oky½ ij laf{kIr fVIi.kh fyf[k,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct option : 

lgh fodYi dk p;u dhft, % 

1. Which of the following flower condition is considered 

as primitive ? 

(a) Hypogyny  
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(b) Perigyny  

(c) Epigyny  

(d) Agyny 

iq”i dh dkSu lh fLFkfr lcls iqjkuh gS \ 

¼v½ gkbiksxkbuh 

¼c½ isjhxkbuh  

¼l½ bihxkbuh  

¼n½ ,sxkbuh  

2. ICBN formulated in the year :  

(a) 1956 

(b) 1982 

(c) 1984 

(d) 1986 

vkbZ- lh- ch- ,u- fdl o”kZ izfrikfnr gqvk \ 

¼v½ 1956 

¼c½ 1982 

¼l½ 1984 

¼n½ 1986 

3. Royal Botanical Garden is situated at :  

(a) Kew, England  

(b) Oslo  

(c) Vienna  

(d) Dhaka  
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jk;y ckVksfudy xkMZu fLFkr gS % 

¼v½ D;w] baXyS.M esa 

¼c½ vksLyks esa 

¼l½ fo;uk esa 

¼n½ <kdk esa 

4. Spike of spikelete inflorescence occurs in the family :   

(a) Lamiaceae  

(b) Poaceae  

(c) Asteraceae  

(d) Malvaceae  

Likbd vkWQ LikbdysV iq”iØe fdl dqy eas feyrk gS \ 

¼v½ ySeh,lh  

¼c½ iks,lh  

¼l½ ,LVjslh  

¼n½ ekyoslh  

5. Cremocarp fruit occurs in the family :  

(a) Ranunculaceae  

(b) Apiaceae  

(c) Malvaceae  

(d) Verbinaceae  

ØheksdkiZ Qy fdl dqy eas ik;k tkrk gS \ 

¼v½ jsuudqyslh  

¼c½ ,sih,lh  

¼l½ ekyoslh  

¼n½ ojchuslh  
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6. How many families were recognised by Hutchinson ? 

(a) 411 

(b) 418 

(c) 419 

(d) 430 

gfpalu }kjk fdrus dqy crk;s x;s \ 

¼v½ 411 

¼c½ 418 

¼l½ 419 

¼n½ 430 

7. Sunflower belongs to the family : 

(a) Asteraceae  

(b) Malvaceae  

(c) Violaceae  

(d) Verbinaceae  

lw;Zeq[kh fdl dqy ls lEcfU/kr gS \ 

¼v½ ,LVjslh  

¼c½ ekyoslh  

¼l½ ok;ksyslh 

¼n½ ojchuslh  

8. Flowers emit fragrance : 

(a) To drive away flies  

(b) To attract insect  

(c) To purify air  

(d) To help endosperm  
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iq”Ik xa/k nsrs gSa % 

¼v½ efD[k;ksa dks Hkxkus ds fy,  

¼c½ dhM+ksa dks vkdf”kZr djus gsrq 

¼l½ gok dks ‘kq) djus gsrq 

¼n½ Hkwz.kiks”k dh enn gsrq  

9. Arrangement of ovules in the ovary is called :  

(a) Placentation  

(b) Inflorescence  

(c) Endosperm  

(d) Tapetum  

chtk.M ds vaMk’k; esa Øe dks dgrs gSa % 

¼v½ IyslsuVs’ku  

¼c½ iq”iØe 

¼l½ Hkwz.kiks”k  

¼n½ VsihVe  

10. The male gametes in angiosperms are :  

(a) Non-motile  

(b) Motile  

(c) Rounded  

(d) Multiflagellated  

vko`rchth esa uj ;qXed gksrs gSa % 

¼v½ vpyk;eku  

¼c½ pyk;eku  

¼l½ xksykdkj  

¼n½ cgq¶ysftysVsM ¼cgqd’kkfHkd½ 
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